



Ultimate Rewards

Earning cash back has never been easier with the Corteva Agriscience[™] Ultimate Rewards. Purchase the products you need when you need them.

You have the freedom to decide

Purchase participating Corteva Agriscience™ products or products with Corteva active ingredients and start earning cash back. It's that easy. And the more you purchase, the greater your rewards. Simply select the products you need, submit your rebate request and save.

Earn up to 15% more when you bundle products!

See "Bonus Multiplier" section on page 3.

Stack up your rebate dollars by purchasing qualifying products by the pallet.

Only available during EOP (10.1.19 - 2.15.20). See "Special EOP Pallet Rebates" section on page 3.

How to qualify

Earn year-long rebates on qualifying purchases between October 1, 2019 and September 30, 2020. The EDI (or invoices, if required) must be dated within the defined purchase period.

The Early Order Period is October 1, 2019 - February 15, 2020. Take advantage of greater earning power during the EOP!

How to submit

Go to COREUltimateRewards.com, pick your distributor(s), complete your rebate form.

Submit your rebate form.

If you purchase from a Corteva direct distributor, we will use EDI to validate your claim. If not, you will be directed how to proceed to receive your rebate.

You may select to have your rebate check directly to you or as a credit on your account with your participating distributor of your choice.

Participating Products	Package Size	Case	Minimum Quantity		EOP Rebate per Min	Feb 16-Sep 30 Rebate per Min
Preemergence Herbicides						
Dimension® Ultra 40WP specialty herbicide	5 oz WSP	8 WSP/bag with 8 bags/case	1 case	20 lb	\$65.00	\$52.00
Dimension 2EW (0.5 gal bottle)	0.5 gal	4 btl/case	2 cases	4 gal	\$50.00	\$40.00
Dimension 2EW (2.5 gal bottle)	2.5 gal	2 btl/case	1 case	5 gal	\$60.00	\$48.00
Dimension + Defendor Value Pak	2 gal btl (Dim) + 1 gal btl (Def)	2 gal btl (Dim) + 1 gal btl (Def)/case	1 VPK		\$55.00	\$44.00
Gallery® 75DF specialty herbicide	1 lb	4 btl/carton with 6 cartons/case	2 cartons	8 lb	\$100.00	\$80.00
Gallery SC (1 qt bottle)	1 qt btl	12 qt	8 quarts		\$150.00	\$120.00
Gallery SC (2 gal bottle)	2 gal	2 bottles/case	2 gallons		\$150.00	\$120.00
Kerb® SC T&O specialty herbicide	2.5 gal	2 btl/case	1 case	5 gal	\$80.00	\$64.00
Snapshot® 2.5TG specialty herbicide	50 lb bag		10 bags	500 lb	\$55.00	\$44.00
Snapshot DG	25 lb bag		20 bags	500 lb	\$5500	\$44.00
Postemergence Herbicides						
Confront [®] specialty herbicide	1gal	4 btl/case	1 case	4 gal	\$25.00	\$20.00
Defendor® specialty herbicide	1qt	4 qt/case	1 case	1gal	\$10.00	\$8.00
GameOn [™] specialty herbicide	2.5 gal	2 btl/case	1 case	5 gal	\$10.00	\$8.00
Lontrel® T&O specialty herbicide	1 qt	12 qt/case	1 gallon		\$40.00	\$32.00
NativeKlean™ herbicide	1gal	4 btl/case	1 case	4 gal	\$10.00	\$8.00
Sapphire [®] specialty herbicide	1gal	4 btl/case	1 case	4 gal	\$100.00	\$80.00
Turflon® Ester Ultra specialty herbicide	1 gal	4 btl/case	1 case	4 gal	\$15.00	\$12.00
Insecticides						
Conserve® SC specialty insecticide	1 qt	4 qts/case	1 case	1 gal	\$25.00	\$20.00
Dursban® 50W specialty insecticide	4 oz WSP	7 WSP/bag with 8 bags/case	1 case	14 lb	\$15.00	\$12.00
MatchPoint [®] specialty insecticide	64 oz btl	4 btl/case	1 case	16 lb	\$450.00	\$360.00
Fungicides						
Dithane® 75DF specialty fungicide	12 lb bag	4 bags	2 cases	96 lb	\$30.00	\$24.00
Eagle® 20EW specialty fungicide	1 gal or 1 pt	4 gal btl or 8 pt btl	1 case of 1 gal btl or 4 cases of 1 pt btl	4 gal	\$30.00	\$24.00
Fore® WSP specialty fungicide	1.5 lb WSP	4 WSP/bag with 8 bags/case	2 cases	96 lb	\$50.00	\$40.00

Participating Products	Package Size	Minimum Quantity	EOP Rebate per Min	Feb 16-Sep 30 Rebate per Min
Control Products on Fertilizer/Granules				
Confront 0.68% on fertilizer	50 lb bag	50 lb bag	\$0.65	\$0.52
Confront 3	50 lb bag	50 lb bag	\$0.50	\$0.40
Confront 3 plus Dimension on fertilizer/granules	50 lb bag	50 lb bag	\$1.15	\$0.92
Confront TR	50 lb bag	50 lb bag	\$0.40	\$0.32
Cuatro with Dimension plus Quinclorac	50 lb bag	50 lb bag	\$0.29	\$0.23
Dimension 0.10-0.13% on fertilizer/granules	50 lb bag	50 lb bag	\$0.27	\$0.22
Dimension 0.15-0.19% on fertilizer/granules	50 lb bag	50 lb bag	\$0.39	\$0.31
Dimension 0.21-0.27% on fertilizer/granules	50 lb bag	50 lb bag	\$0.55	\$0.44
Dimension 0.17% & LockUp® specialty herbicide 0.01%	50 lb bag	50 lb bag	\$0.49	\$0.39
Eagle 0.39% on fertilizer/granules	30 lb bag	30 lb bag	\$1.23	\$0.98
Eagle 0.39% on fertilizer/granules	40 lb bag	40 lb bag	\$1.61	\$1.29
Eagle 0.62% on fertilizer/granules	25 lb bag	25 lb bag	\$1.85	\$1.48
Gallery 0.38% on fertlizer/granules	50 lb bag	50 lb bag	\$0.55	\$0.44
LockUp 0.01-0.014% on fertilizer/granules	50 lb bag	50 lb bag	\$0.10	\$0.08
LockUp 0.03-0.04% on fertilizer/granules	50 lb bag	50 lb bag	\$0.30	\$0.24

Special EOP Pallet Rebates From 10/1/19-2/15/20	Pack Size	Pallet (NOT included in base offer)	Minimum Quantity (pallet)	Rebate \$/pallet
Dimension 2EW 2.5 gal	5 gal/case	36 cases	180 gal	\$2400.00
ithane 75DF	48 lbs/case	18 cases	864 lb	\$300.00
ore WSP	48 lbs/case	18 cases	864 lb	\$500.00
ameOn	5 gal/case	36 cases	180 gal	\$400.00
rb	5 gal/case	36 cases	180 gal	\$3200.00
napshot 2.5TG	50 lb bag	40 bags	2000 lb	\$250.00
napshot DG	25 lb bag	84 bags	2100 lb	\$250.00

	BONUS MULTIPLIER Number of <u>Different</u> Products Purchased (See #1 and #2 under "Terms and Conditions")	Rebate Multiplier
1 product		Base rebate
2 products		Base rebate x 1.03
3 products		Base rebate x 1.06
4 products		Base rebate x 1.09
5 products		Base rebate x 1.12
6+ products		Base rebate x 1.15

Match product purchase for additional rebate dollars in 2019-2020

Product Purchases	Rebate \$/Unit	Unit
Defendor® specialty herbicide		
Matched with Dimension® specialty herbicide or Dimension on fertilizer	\$80.00	quart

Purchase the equivalent Dimension specialty herbicide on fertilizer, Dimension Ultra 40WP, or Dimension 2EW equal to or greater than 0.25 pounds a.i. per acre (1 pint per acre or higher), equal to the number of treated acres of Defendor specialty herbicide purchased. Rebate is paid on Defendor purchases only. In order to receive this additional rebate amount, you must submit both your Defendor and Dimension 2EW purchases at the same time.

(i.e. 1 quart of Defendor equals 8 acres treated at 4oz. per acre. Therefore, if you were buying a 50 lb bag of fertilizer with a Dimension load rate of 0.21% a.i., you would need to purchase at least 19 bags per 1 quart of Defendor).

One pint of Dimension equals 0.25 pounds a.i. per acre. Dimension 2EW product sizes included are the 0.5 gal, 2.5 gal, and 30 gal. Dimension 2EW bulk or the Dimension + Defendor Value Pak are not included in the quantities for the matching, nor included in this additional rebate payout.

TERMS AND CONDITIONS (GO TO WEBSITE FOR COMPLETE LIST OF TERMS AND CONDITIONS):

- 1. Fertilizer/granule product minimums of 1 ton before the bonus multiplier kicks in.
- 2. Fertlizer/granule products are combined and not counted as individual products for the bonus multiplier. **EXAMPLE:** Contront® TR and Confront 3 specialty herbicides are considered one product. They would not count as two separate products.
- 3. Pallet rebates are only paid on <u>full</u> pallet purchases.
- 4. Any rebates due will be paid in May 2020 and December 2020.
- 5. Qualifying products must be invoiced during the defined purchase period of October 1, 2019 September 30, 2020.
- 6. You must submit your Rebate Form online. You can upload your invoices, if required, or mail them along with a copy of your completed submission to the address below. **Invoices must be uploaded or mailed with a postmark date of no later than October 31, 2020**:

Corteva[™] Agriscience Ultimate Rewards Headquarters

P.O. Box 501820

Indianapolis, IN 46256

- 7. If your distributor is not reporting EDI, invoices, with invoice numbers (#s), are required to verify the purchase of all participating products. If invoices are not available, we can accept: bill of lading, packing list, and invoice summary reports with the Distributor's letterhead, provided that they show: an invoice number (#), a clear product description, quantity purchased, date of purchase, name of purchaser, and the name and location of the selling organization. Please note that future purchase acknowledgements or internal purchase summary reports will not be accepted.
- 8. Corteva Agriscience[™] Program Administration will be responsible for completing final calculations. All decisions will be final.
- 9. Rebate checks will not be issued for less than **\$250.00**. To be eligible, your earned rebate amount must be at least \$250.00. Go to COREUltimateRewards.com to track your eligible earnings.
- 10. Rebates will be awarded based on purchases by end users/applicators only. Purchases submitted by a re-seller of Corteva T&O products will not qualify for any rebate.
- 11. Participants can submit multiple claims for this program.

Option 1: Fill out and submit Rebate Form and upload invoices (if required) online

Option 2: Fill out and submit Rebate Form on line and print out your on line form and send in with copies of your invoices (if required) to the address above.

Please keep a copy of your completed rebate form for your records.

- 12. Corteva reserves the right to audit end user purchases and the use of Corteva products for compliance including program earnings, and all such earnings will be forfeited if program records are determined to be false.
- 13. Where permitted by law, Corteva may deduct from program payments any amount due by end user to Corteva or its affiliates including, but not limited to, past due amounts, late payments and penalties.
- 14. Corteva reserves the right to modify or terminate the program at any time without notice.
- 15. All decisions made by Corteva with respect to program administration and implementation, including calculation of program payments, will be final and binding.
- 16. Taxes on earnings are the responsibility of the participant.



